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1. Introduction

In RAN4#91, the requirements for inter-RSTD measurement are almost finalized, except for 

· the number of ACK/NACKs during TECGI and combined TMIB and TECGI for TDD FR1 60kHz
In this paper we will provide our analysis on the numbers.
2. Discussion
2.1. ACK/NACK number in TECGI
In this analysis, we update our assumption on the interruptions caused by SIB1 reading. During TECGI of 100ms, UE will attempt to decode SIB1 4 times. For the first attempt, 9ms interruption is assumed to account for AGC operation and decoding. For the next 3 attempts, 4ms interruption each is assumed for decoding. The end of each attempt is equally separated by 20ms. 
The worst case for the impact to data scheduling on a NR serving cell with TDD FR1 60kHz due to above assumed interruption is shown in Figure 1. It can be seen that 
· 15 ACK/NACKs can be transmitted in the first 20ms

· 27 ACK/NACKs can be transmitted in each of the next three 20ms

· 48 ACK/NACKs can be transmitted in the last 20ms

Figure 1: Worst case interruption during TECGI
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In Figure 1, in total 144 ACK/NACKs can be transmitted in the 100ms time period without considering SMTC. For SMTC, we assume 20ms period and 1ms duration, and the offset is 0, i.e. SMTC window covers the first 4 slots every 20ms. The resulting reduction of ACK/NACK number depends on how many SSBs UE is configured to measure within SMTC window. Here for simplicity we assume UE is configured to measure only one SSB, so scheduling of slot 2/3 every 20ms is not impacted. The total number of ACK/NACKs during TECGI remains 144.
Proposal 1: The number of ACK/NACKs during TECGI for TDD FR1 60kHz is 144.
Proposal 2: It should be clarified in the requirements that UE is assumed to measure only one SSB in the SMTC window.
2.2. ACK/NACK number in combined TMIB and TECGI
In our view, for the combined time period of TMIB and TECGI, in worst case, the number of ACK/NACK should be the sum of the required number of ACK/NACK in each of TMIB and TECGI. 
Proposal 3: The number of ACK/NACK during combined TMIB and TECGI for TDD FR1 60kHz is 156.
3. Conclusions

In this paper we provided our views on ACK/NACK number requirements for inter-RAT RSTD measurement.
Proposal 1: The number of ACK/NACKs during TECGI for TDD FR1 60kHz is 144.
Proposal 2: It should be clarified in the requirements that UE is assumed to measure only one SSB in the SMTC window.
Proposal 3: The number of ACK/NACK during combined TMIB and TECGI for TDD FR1 60kHz is 156.
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